R BraindumpZ@@

Fist Try, Firsthuss! Braindump2go Guarantee All Exams 100% Pass

One Time!
> Vendor: Cisco

» Exam Code: 350-401

> Exam Name: Implementing and Operating Cisco Enterprise Network
Core Technologies (ENCOR)

> New Updated Questions from Braindump2go (Updated in June/2022)

Visit Braindump2go and Download Full Version 350-401 Exam Dumps

QUESTION 794
What is the recommended minimum SNR for Voice applications for networks?
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Answer: C

QUESTION 795
Which two results occur if Cisco DNA center loses connectivity to devices in the SD-ACCESS fabric? (Choose two)

All devices reload after detecting loss of connection to Cisco DNA Center
Already connected users are unaffected, but new users cannot connect
User connectivity is unaffected

Cisco DNA Center is unable to collect monitoring data in Assurance
Users lose connectivity

moow»

Answer: CD

QUESTION 796

Witch two actions provide controlled Layer 2 network connectivity between virtual machines running on the same
hypervisor? (Choose two.)

Use a single trunk link to an external Layer2 switch.

Use a virtual switch provided by the hypervisor.

Use a virtual switch running as a separate virtual machine.

Use a single routed link to an external router on stick.

Use VXLAN fabric after installing VXLAN tunneling drivers on the virtual machines.

moowpy

Answer: BC

QUESTION 797
Which free application has the ability to make REST calls against Cisco DNA Center?

A. API Explorer
B. REST Explorer
C. Postman
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D. Mozilla

Answer: C

QUESTION 798
Refer to the exhibit. R1 and R2 are directly connected, but the BGP session does not establish.
Which action must be taken to build an eBGP session?

Fist Try, Fisthass! Braindump2go Guarantee All Exams 100% Pass One Time!

R1#show ip bgp summary
BGP router identifier 1.1.1.1, local AS number 65001
BGP table version is 1, main routing table version 1

Neighbor Vv AS MsgRcvd MsgSent TbiVer InQ OutQ Up/Down State/PfxRed
192.168.12.2 4 65002 0 O 1 0 000:00:15 |dle

R1#show ip interface brief | include 192.168.12

FastEthernet0/0 192.168.12.1 YES NVRAM up up

R2#show ip bgp summary
BGP router identifier 2.2.2.2, local AS number 65002
BGP table version is 1, main routing table version 1

Neighbor \" AS MsgRcvd MsgSent TbIVer InQ OutQ Up/Down State/PfxRed
192.168.12.1 4 65001 0 O 1 0 000:01:00 Idle (Admin)

R2#show ip interface brief | include 192.168.12

Ethernet0/0 192.168.12.2 YES NVRAM up up

R2#ping 192.168.12.1

Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 192.168.12.1, timeout is 2 seconds:

Success rate is 100 percent (5/5), round-trip min/avg/max = 1/1/1 ms

Configure ip route 1.1.1.1 0.0.0.0 192.168.12.1 on R2.

Configure neighbor 192.168.12.1 activate under R2 BGP process.
Configure neighbor 2.2.2.2 remote-as 65002 under R1 BGP process.
Configure no neighbor 192.168.12.1 shutdown under R2 BGP process.
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Answer: D

QUESTION 799
If AP power level is increased from 25 mW to 100 mW. what is the power difference in dBm?

6 dBm

14 dBm
17 dBm
20 dBm
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Answer: D

QUESTION 800
Which signal strength and noise values meet the minimum SNR for voice networks?

signal strength -67 dBm, noise 91 dBm
signal strength -69 dBm, noise 94 dBm
signal strength -68 dBm, noise 89 dBm
signal strength -66 dBm, noise 90 dBm
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Answer: A

QUESTION 801
Which two methods are used by an AP that is typing to discover a wireless LAN controller? (Choose two.)

Cisco Discovery Protocol neighbour
broadcasting on the local subnet

DNS lookup cisco-DNA-PRIMARY .localdomain
DHCP Option 43

querying other APs
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Answer: BD

QUESTION 802
Refer to the exhibit. Which router is elected as the VRRP primary virtual router?

Router A

Interface GigabitEthernet 1/0

ip address 192.168.0.1 255.255.255.0
vrrp priority 120

Router B

Interface GigabitEthernet 1/0

ip address 192.168.0.200 255.255.255.0
vrrp priority 100

Router C

Interface GigabitEthernet 1/0

ip address 192.168.0.3 255.255.255.0
vrrp priority 130

Router B
Router D
Router C
Router A
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Answer: C

QUESTION 803
Refer to the exhibit. Which command allows hosts that are connected to FastEthernet0/2 to access the Internet?
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ip nat inside source list 10 interface FastEthernet0/1 overload

ip nat inside source list 10 interface FastEthernet0/2 overload

ip nat outside source list 10 interface FastEthernet0/2 overload
ip nat outside source static 209.165.200.225 10.10.10.0 overload
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Answer: A

QUESTION 804
Which A record type should be configured for access points to resolve the IP address of a wireless LAN controller using
DNS?

CISCO.CONTROLLER.localdomain
CISCO.CAPWAP.CONTROLLER.localdomain
CISCO-CONTROLLER.localdomain
CISCO-CAPWAP-CONTROLLER.localdomain
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Answer: D

QUESTION 805
By default, which virtual MAC address does HSRP group 30 use?

00:05:0c:07:ac:30
00:00:0c:07:ac:1e
05:0c:5e:ac:07:30
00:42:18:14:05:1e
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Answer: B

QUESTION 806
Which activity requires access to Cisco DNA Center CLI?

provisioning a wireless LAN controller
creating a configuration template
upgrading the Cisco DNA Center software
graceful shutdown of Cisco DNA Center
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Answer: D

QUESTION 807
Which NTP mode must be activated when using a Cisco router as an NTP authoritative server?

primary

server
broadcast client
peer
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Answer: D

QUESTION 808
Refer to the exhibit. An engineer must configure an ERSPAN tunnel that mirrors traffic from linux1 on Switchl to Linux2

on Switch2.
Which command must be added to the destination configuration to enable the ERSPAN tunnel?

«* «*
<« -*
Linux Switch? unmanaged- switch-0 Switch2 Linux

Switchliahow ip int br

Interfaco IP~Address OK? Mothod Statuas Protocol
GigabicEthernecl 152.168.1.1 YES manual up up
GigabitEthernot2 172.16.40.10 YES manual administratively down down
Loopback0 172.1€.10.10 YES manual up up
Switch2#show ip int br

Intorface IP-Address OX? Method Status Protocol
GigabitEthernetl 192.168.1.2 YES manual up up
GigabitEthernes? 172.16.20.10 YES manual up up
Loocpback0 10.10.10.10 YES manual up up

8witchl (config) fmonitor session 1 type erspan-source

Switchl (config-mon-exapan—src) §source interface gigabitethernetl
Switchl (config-mon-erspan—-sxc) fdestination

Switchl (config-mon~erspan-src-dst) ferspan-id 110

Switchl (config-mon-erspan-sarc-dst) fip address 10.10.10.10
Switchl (config-mon-ezspan-src-dst) forigin ip address 172.16.10.10

Switch2(config) §monitor session 1 type erspan-destination

Switch2 (config-mon-erspan-dst) §destination interface Gigabitethernet2
SwitchZ (config-mon-esrapan-~dst) $souzce

8witch2 (config-mon-erspan-dat-arc) $
Switch2 (config-mon-erspan-dst-src) §ip address 10.10.10.10

A. (config-mon-erspan-dst-src)# origin ip address 172.16.10.10
B. (config-mon-erspan-dst-src)# erspan-id 172.16.10.10

C. (config-mon-erspan-dst-src)# no shut

D. (config-mon-erspan-dst-src)# erspan-id 110

Answer: D
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